
I разред    ДОМАЋИ ЗАДАТАК       број 1 

     (Квадрат бинома) 

 

1.   Одреди квадрат бинома: 

а)   (2𝑥 − 1)2; 

б)   (3𝑎 + 2)2; 

в)   (−𝑏 + 2)2; 

г)   (−2𝑡 − 3)2. 

2.   Одреди квадрат бинома: 

а)   (𝑥 + 𝑦)2; 

б)   (2𝑎 + 3𝑏)2; 

в)   (3𝑐 − 4𝑑)2; 

г)   (−4𝑡 − 5𝑠)2. 

3.   Одреди квадрат бинома: 

а)   (
1

2
𝑢 + 1)

2
; 

б)   (
2

3
𝑥 −

1

3
)
2
; 

в)   (−
3

4
𝑎 +

1

4
)
2
; 

г)   (−
2

5
𝑦 −

1

5
)
2
. 

4.   Одреди квадрат бинома: 

а)   (0,5𝑥 + 2)2; 

б)   (0,1𝑥 + 0,2)2; 

в)   (1,1𝑎 − 1,2)2; 

г)   (−2,5𝑦 − 2,4)2. 

5.   Одреди квадрат бинома: 

а)   (𝑥2 + 𝑦2)2; 

б)   (2𝑎3 + 3𝑏3)2; 

в)   (−𝑐4 + 4𝑑2)2; 

г)   (−5𝑥5 − 4𝑦6)2. 

6.   Одреди квадрат бинома: 

а)   (𝑥2𝑦 + 𝑥𝑦2)2; 

б)   (4𝑎3𝑏 + 1)2; 

в)   (4𝑎𝑐5𝑑 − 3𝑎𝑐)2; 

г)   (−3𝑥4𝑦2𝑧3 − 7𝑦𝑧4)2. 

 

РЕШЕЊА ЗАДАТАКА: 

 



 

 

1. 

а)   4𝑥2 − 4𝑥 + 1; 

б)   9𝑎2 + 12𝑎 + 4; 

в)   𝑏2 − 4𝑏 + 4; 

г)   4𝑡2 + 12𝑡 + 9. 

2. 

а)   𝑥2 + 2𝑥𝑦 + 𝑦2; 

б)   4𝑎2 + 12𝑎𝑏 + 9𝑏2; 

в)   9𝑐2 − 24𝑐𝑑 + 16𝑑2; 

г)   25𝑠2 + 40𝑠𝑡 + 16𝑡2. 

3. 

а)   
1

4
𝑢2 + 𝑢 + 1; 

б)   
4

9
𝑥2 −

4

9
𝑥 +

1

9
; 

в)   
9

16
𝑎2 −

3

8
𝑎 +

1

16
; 

г)   
4

25
𝑦2 +

4

25
𝑦 +

1

25
. 

4. 

а)   0,25𝑥2 + 2𝑥 + 4; 

б)   0,01𝑥2 + 0,04𝑥 + 0,04; 

в)   1,21𝑎2 − 2,64𝑎 + 1,44; 

г)   6,25𝑦2 + 12𝑦 + 5,76. 

5. 

а)   𝑥4 + 2𝑥2𝑦2 + 𝑦4; 

б)   4𝑎6 + 12𝑎3𝑏3 + 9𝑏6; 

в)   𝑐8 − 8𝑐4𝑑2 + 16𝑑4; 

г)   25𝑥10 + 40𝑥5𝑦6 + 16𝑦12. 

6. 

а)   𝑥4𝑦2 + 2𝑥3𝑦3 + 𝑥2𝑦4; 

б)   16𝑎6𝑏2 + 8𝑎3𝑏 + 1; 

в)   16𝑎2𝑐10𝑑2 − 24𝑎2𝑐6𝑑 + 9𝑎2𝑐2; 

г)   9𝑥8𝑦4𝑧6 + 42𝑥4𝑦3𝑧7 + 49𝑦2𝑧8. 

 


